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6HJDOD� SXML� EDJL�$OODK� 6:7� NDUHQD� EHNDW� UDKPDW� GDQ� KLGD\DW� VHKLQJJD� SHQXOLV�

GDSDW� PHQ\HOHVDLNDQ� 7XJDV� $KLU� \DQJ� EHUMXGXO� ³8VXODQ� 3HUEDLNDQ� .XDOLWDV�

/D\DQDQ�&DO\VWD�6NLQFDUH�&OLQLF�PHQJJXQDNDQ�0HWRGH�4)'´�VHEDJDL�VDODK�VDWX�

V\DUDW�XQWXN�PHQ\HOHVDLNDQ�SURJUDP�6��MXUXVDQ�7HNQLN�,QGXVWUL�)DNXOWDV�5HND\DVD�

,QGXVWUL�8QLYHUVLWDV�7HONRP��

3DGD�NHVHPSDWDQ�NDOL� LQL��SHQXOLV� LQJLQ�PHQJXFDSNDQ� WHULPD�NDVLK� \DQJ�VHEHVD�

EHVDUQ\D�NHSDGD��

�� ,EX�6DUL�:XODQGDUL��6�7��0�7�VHODNX�GRVHQ�SHPELPELQJ�VDWX�\DQJ�VHODOX�

PHPEHULNDQ� DUDKDQ�� GXNXQJDQ�� GDQ� ZDNWX� NHSDGD� SHQXOLV� VHUWD� VDEDU�

PHQJKDGDSL�VHJDOD�NHNXUDQJDQ�\DQJ�GLPLOLNL�SHQXOLV�

�� ,EX�,ND�$UXP�3XVSLWD��6�7��0�7�VHODNX�GRVHQ�SHPELPELQJ�GXD�\DQJ�VHODOX�

PHPEHULNDQ� DUDKDQ�� GXNXQJDQ�� GDQ� ZDNWX� NHSDGD� SHQXOLV� VHUWD� VDEDU�

PHQJKDGDSL�VHJDOD�NHNXUDQJDQ�\DQJ�GLPLOLNL�SHQXOLV

�� ,EX� ,U�� )DUGD� +DVXQ�� 0�6F� 6HODNX� GRVHQ� ZDOL� \DQJ� WHODK� PHQHPDQL��

PHQJDUDKNDQ�GDQ�PHQGXNXQJ�VHODPD�SHUNXOLDKDQ�GL�8QLYHUVLWDV�7HONRP

�� $QQLVD�3XVSD�6DUL�GDQ�*K\QD�QXU�)DMULDQWL VHEDJDL� WHPDQ�NHORPSRN�7$�

\DQJ�VHODOX�PHPEDQWX�SHQXOLV�GDODP�PHQGDSDWNDQ�GDWD�\DQJ�GLEXWXKNDQ�

VHODPD�SHQHOLWLDQ��

�� &DO\VWD�6NLQFDUH�&OLQLF�\DQJ� WHODK�PHPEHULNDQ�NHVHPSDWDQ�EDJL�SHQXOLV�

XQWXN�PHODNXNDQ�SHQHOLWLDQ�


